Directions – Check the sig figs and uncertainty sections yourself (i.e. do them on your calculator – and see if you agree).  Do the word problems on another sheet of paper which you should turn in for credit.  You don’t need to show your work for the other parts of the sheet, but do show your calculations for the word problems.

Sig Figs 

	
	How many sig figs?

	3,5,2,1,4,4,6,4,2,5
	104     12,345     450     100     300.0     .1500     10.0012     16.01     .00023     .012300     

	5,4,5,2,3,3,5,1,3
	3.1416     3400.     1001.0     .0000010     6.67x10-11     9.80     22.310     400     .00400


Multiplication or division – round answer to the least number of sig figs of the factors.  Perform the operation below, and round its answer to the correct number of sig figs.  The answer appears below, first un rounded, and then expressed with the correct number of sig figs.

	12x3564
	.0150x4.0
	500x32
	174x4.0
	12.50x.015
	10.0x20.0

	42768->43,000
	.06 -> .060
	16,000->20,000
	696->7.0x102
	.1875->.19
	200->200.

	
	
	
	
	
	

	12.0/3.0
	138/2
	138/2.0
	249.5/.0011
	240.0/100.0
	4.2x10-3/2.175x10-5

	4.0
	69->70
	69->69
	226818.18->230,000
	.24->.2400
	193.1034->190


Adding or subtracting – Round answer to least common place (hundreds, tens, ones, tenths, hundredths – etc)

	2.2       
	14.456
	.0123
	.001
	100
	100

	+ 22.240
	+ 1.21
	+ 32.00
	+ 12.1
	+ 32
	+ 50.01

	24.440->24.4
	15.666->15.67
	32.0123->32.01
	12.101->12.1
	132->100
	150.01->200

	
	
	
	
	
	

	13450
	213
	12.156
	200.
	.0140
	1500

	+ 23
	- 211
	- 12.1492
	- 195
	- .00912
	-49

	13473->13470
	2
	.0068->.007
	5
	.00488->.0049
	1451->1500


Uncertainty
Adding or subtracting – the uncertainty of a sum or difference is the sum of the uncertainties

	25.2 +/- .7
	13.1 +/- .2
	23.12 +/- .01
	24 +/- 2
	21.3 +/- .5

	6.87 +/- .03
	+ 12.1 +/- .5
	- 16.25 +/- .02
	+ 127 +/- 5
	- 21.1 +/- .1 

	151 +/- 7
	
	
	
	

	.2 +/- .6
	
	
	
	


Multiplying and/or dividing – if y = ab/c, then (y/y = (a/a + (b/b + (c/c (( reads uncertainty of)

(Round to correct sig figs, and write a two digit uncertainty)

	31.6 +/- 3.8
	5.10 +/- .2
	3.12 +/- .05
	484 +/- 2
	137 +/- 12

	3.59 +/- .15
	x 6.20 +/- .5
	x 1.15 +/- .03
	(12.0 +/- 1
	( 1.78 +/- .05 

	40.3 +/- 3.5
	
	
	
	

	77.0 +/- 8.9
	
	
	
	


Word problems 
	14.7 +/- .77 m2
	1. What is the area (with uncertainty) in square meters of a rectangular room that measures 3.50 x 4.20 m where both measurements have an uncertainty of .10 m?

	140.4 +/- 6 cm
	2. A staircase has 12 steps, each one being 11.7 +/- .5 cm high.  What is the total height of the staircase with uncertainty? (Add twelve together…)

	1.2 +/- 1.3 cm

Yes

	3. One board is 24.1 +/- .5 cm long, and another is 25.3 +/- .8 cm long.  How much longer is the second than the first?  Could the first possibly be longer?

	452 +/- 7.5 cm2
	4. What is the area (with uncertainty) of a circle that is 12.0 cm +/- .1 cm in radius?  (area = (r2)


